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1. 8 V3|1 +(3) =8 3 L)43=3+3=6 ANSWER: 6
2 2 4)\ 2
2. 51> —50% = 2601-2500=101; a=51, b =50 ANSWER: 51
3. 4x* =4  4x" =16 x'=4
1 2
x = +4/4 = +4* =+2¢ = +/2 ; other two solutions are imaginary ANSWER: +2
4,
r=d
H=3
R=35
Revolution creates a cylinder with a cylindrical hole inside
V =2R*H —7zr’H = z(5)*(3) - 7(2)*(3) = 757 —127 = 637 ANSWER: 637
5, (2+2i)® = (24/2cis45)® = (2+/2)%cis(45-8) = (2° - 2*)cis360 = 212 (1) = 22 = 4°;
SOX=6 ANSWER: 6
6. F(x) = 2X _ 2X
J-0¢ =7x+10)  -(x—2)(x-5)
When 2 < x < 5, denominator is a non-zero real number, otherwise the function is undefined.
Integers which satisfy are 3 and 4; sum is 7 ANSWER: 7
7.
E ;
o 24
-3 [ m| —\
H o =7
-4
5

-4\ - - 4
sin(a — ) =sina cos f—cosasin ff = (iJ(lj—(—sj(ﬁJ = 28+72 _4 ANSWER: —
5 /125 5 )1 25 125 5 )
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8. When a card is drawn, 47 cards remain, 11 of which match in suit, and 7 of which match in face value
18
7., . .11 p,o_18 ANSWER: —
TR Q=g 47
9. lim ZZX_8 X2 jim| 229 +(\/;+2)(‘&_2) :Iim[—2 +\/§+2j
o4 X2 -3x—4 fx—2) =4 (x+1D)(x-4) Jx =2 o4 x+1
=E—|-Z+2:2 ANSWER:Eor 4E ord.4
5 5 5 5

10. Multiplying both sides by e** and simplifying yields the equation
2e™ ~17¢* +30=0 (2 —-5)(e” -6) =0 e

2x=|ng or 2x=1In6 x=|n\/g or x=In/6
Sum of solutions = In\/§+ln\/gzln‘/g-6=ln«/1_5;sop= V15 ANSWER: /15

11.
k2

2
Area is a square with side k~/2 , area of square = (kx/i) = 2k? ANSWER: 2k?

A B 8x—26

12. + =—
X—2 X—-4 X°-6x+8

A(x-4)+B(x-2)  8x-26
x> —6X+8 x> —6X+8

AX—4A+Bx—-2B=8x-26
AX + Bx =8x and -4A -2B =-26

Solve system of equations to find A =5, B =3 A® =5°=125 ANSWER: 125



